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1. 3+ 5 :28X7-325+5-5X21= °
(A)26 (B)131 (C)196 (D)336
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J 34=196-65-105=196-170=26
FA

2. Refer to the figure on the right. If ~£1=125°, whatis ~£2=?

VAN

(A)100° (B)115° (C)135° (D)145°
<f#t7>
Z1+90°+ £2=2 1% T 4 =360°
125°+90°+ £2=360°
£2=270°-125°=145° > D -
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¥ =z X3-28

¢ =% X3-12

2> 7 +2 =32 +37 -40> 22 +27 =40 " +2 =20 EC o
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3698+43=86
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3R TAAEE T DOAE 2 =124 853

21AF > 2=6A8H 2 D54AhE 2 T =124 2

9hE> 2=BAkE> 3 > 1hE>2=6hE> 2
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25-2=23 » 23-16=7...45 2 & pF Ry
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16X 1+12 X 7=16+84=100
100+25=4 » i£B
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210-102=108

810-108=702

720-207=513

531-135=396

963-369=594

954-459=495

----=> £ =495

222020 3 1% 0 B 14 ch4 =495

2. 7o K

12+3+4 X5-6+7+8=N

<fz45>

F1LiEE s % B4 =1243+4 X (5-6+7)+-8=12+3+3=18

N=18
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3a-3+3(a+1)-3+3(a+2)-3=4b-4+(4(b+1)-4+4(b+2)-4
9a=12b » 3a=4bD12 i fic » B 72 4
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8. Find the sum of the lengths (& /& 2 §r), in cm, of all line segments (*7F #1f<) in the
figure below. (" [])

1cm2cm 3cm 4cm 5cm 6cm
<fz47>
Pe— B0 142+3+4+5+6=21
B2 B (1+2)+(2+3)+(3+4)+(4+5)+(5+6)=3+5+7+9+11=35
B = B (1+2+43)+(2+3+4)+(3+4+5)+(4+5+6)=6+9+12+15=42
Bew B0 (1+2+43+4)+(2+3+4+5)+(3+4+5+6)=10+14+18=42
B~ B0 (1+2+43+4+5)+(2+3+4+5+6)=15+20=35
P B0 142+3+4+5+6=21
£ 21+35+42+42+35+21=196
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